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Set Id : 62297 13 BATCH2_D.EI.ED Odia_08NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

The figures of a horse and rider came slowly through the eddying mist, and came to the side of the
mail, where the passenger stood. The rider stooped, and, casting up his eyes at the guard, handed
the passenger a small folded paper. The rider's horse was blown, and both horse and rider were
covered with mud, from the hoofs of the horse to the hat of the man.

“Guard!” said the passenger, in a tone of quiet business confidence.

The watchful guard, with his right hand at the stock of his raised blunderbuss, his left at the barrel,
and his eye on the horseman, answered curtly, “Sir.”

“There is nothing to apprehend. | belong to Tellson's Bank. You must know Tellson's Bank in
London. | am going to Paris on business. A crown to drink. | may read this?”

“If so be as you're quick, sir.”

1) What were the rider and horse covered with?

A) Mud.
B) Water.
C) Grass.
D) Dew.

2) What can be the most likely connection between the passenger and the guard ?

A) Officer - Soldier.

B) Brother officers of same regiment.
C) Constables of same constabulary.
D) Peon - Clerk.

3) What did the rider hand to the passenger?

A) Some Money.
B) Folded paper.
C) Bill.

D) Horse.
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4) Where was the rider going?

A) Notre Dame.
B) London.

C) For a war.
D) Paris.

5) What did the rider want to do?

A) Read the paper.

B) Go to Tellson Bank.
C) Ride away.

D) Seek someone's help.

6) Fill in the blank with the correct option:

He said to his wife and went cab to a gift for her.

A) bye, by, buy
B) by, bye, buy
C) buy, by, bye
D) bye, bye, by

7) The phrase "Dispense with something" means

A) to get to know something

B) to acknowledge something

C) to get rid of something

D) to participate in a peculiar way or act differently

8) Fill in the blank with correct prefix or suffix:

The young batsman had done his captain's record of centuries.

A) out
B) re

C) over
D) super
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9) Which of the following words is correctly spelt?

A) hygene
B) hygiene
C) hygien
D) higene

10) The phrase "Crease up" means

A) to start laughing
B) to start crying
C) to start yelling
D) to start sleeping

JoinUs-' > &f
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Generally, which of the following gases is considered harmful because of its tendency to react
with haemoglobin and results in the decrease of oxygen available to the tissues?

A) Sulphur dioxide
B) Carbon dioxide
C) Carbon monoxide
D) Nitrogen oxide

e o =

11) auieass, ﬁﬂﬁ%&@ A g 6aat Berlsglde afe iRl Rl g@@ 60 966100 6QIM §6207 SAIAN I IR
TRYAU Fgea aons 2GRIe 919 997
A) A0TQ SRS

B) QIdQ eieaqies
C) 9I9R F6RIQae,
D) FIR6gI6aR 2]IRE,

12) Which one among following is not a primary role of pressure groups in political system?

A) Criticise the government

B) Important part of the democratic process

C) Contest elections

D) Influence government policy to benefit themselves or their causes

12) SRS caig 6968 QIR6HEE Iegisa Ia saITia giadie Qiql g% ?

A) 909108 AAIERISH 869
B) cecide giaia geeqd era 62Q
C) aieq gdsaidel ARSI

D) 5eQ &9l saqies e 699 AeqIal 916 U6R gRIe SRS

13) The principal governing body of the Education system in India is -

A) NCERT
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B) CICSE
C) SCERT
D) State Boards

13) eiec1a daiiegia gai Yo UG ceaad -

A) R3S
B) duada
C) wadaaied
D) Q5 691696

14) Which of the following languages was NOT part of the 'three dialect equation' of the 1968 NPE?

A) English

B) Hindi

C) Language of the State
D) Sanskrit

14) f9dde AIBIgea FuQ 6896 ¢ cor IR d Qe ‘Ql- QURISl ANMSAE’Q 2rél 6 ?

A) EaIs
B) @@t

C) aisva aus
D) @9

15) The National Programme of Nutritional Support to Primary Education (NP-NSPE) was launched
on which of the following dates?

A) 14 November 2002
B) 15 August 1995

C) 26 January 1985
D) 02 October 2000

15) gladie 48 g 98ee aenel 2612 aidige (NP-NSPE) 6RQ 6IA%6R e FAARR 7

A) e¥ Q6RER 9009
B) es 20&/ cceg
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C) 95 QIQaAAN ecrg
D) 09 26QIQQ 9000
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 25th alphabet from the left and 10th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 6
B) 7
C)8
D)9

16) 6606967 QdaIRl Qe 2N asa%l@ﬁ QRIAN, QINQ 98¢ 94l IS BIRIER ¢ ofl 94 FIIER ERERIT ZE QER ?

A) 9
B) o
Cr
D) ¢

17) In a certain code language, if the word CUTE is coded as 321205, then how will the word BAT
be coded in that language?

A) 2210
B) 2120
C) 2230
D) 2340

17) 9 §da cale asisa, 98 CUTE g8 m9¢ 908 aiesa 6q1e 62108, 606w 628 aiaisa BAT 9eG q @A 6ale, QUL 2

A) 99¢o
B) 9¢90
C) 99mo0
D) 9myo

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What was the net worth of company XYZ in the year 20117?
l. In the year 2009 the net worth of the company XYZ was $100,000.
Il. The net worth of the company increased by 10% from 2010 to 2011.

A) 1
B) 2
C)3
D) 4

18) GONYC gggdasa 53¢ qaq :
0. 96 3904 | arayia QR 699lg gs2d 26T |

9. 96 QI Il ¥gfal anaia AR saaig Asaa 26T |
M. 96 Y4 | v |l eeng K10 G2IFe 6669 AR VAR 629! Tis AYIY 2I6e |

0@ QR4 | v Il aeag 9RI0 F2IDR 6669 @ AR AR 629! Al adug Q65 |

90R R adeiea a¢iel XYZ @ 62Q 9o 6@6G al ?
l. 9000 adeisa XYZ a¢inia 609 gai $eoo,000 8al |

Il. 9000 @ 90 ¢ Aya Q¢IRQ 6QQ R4 0% QF CIRE |

A) ¢
B) ¢
c)a
D) ¥
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19) A truck travelling towards south covers a distance of 8 km, then turns right and covers another 9
km. Finally, it turns right and stops. In which direction is it facing finally?

A) East

B) West
C) North
D) South

19) @89 2leg Q198 9@ @ I TR Qa0 oI A6Q, FIUER VI2IEg IR AR ¢ FEAFTR AL F6A | 69T6Q, 92| QIA6Y IR
2GR AN 1 66960 §Q & 694 Soig Qoiag ?

A) 99
B) ad¢
C) aaa
D) @88

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4. if statements | and Il taken together are NOT sufficient to answer the problem.

What is the value of the integer z?
I. z has exactly one prime factor.

II. 22 <z < 29, and z has exactly three factors.

A) 1
B) 2
C)3
D) 4

20) GO ggeeasa 636 @aq :
0. 96 Q94 | anaiia AN so9Iq Tsaa 26T |

2@ Y9Q€ Il vgial ania REA saalg 96ae 26T |



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

0. 9@ Q! | v || aevg 910 FaIde 6069 AR LA 699 AR ATYIY 26T |

¥. 96 Q8! | ver || aewg 9eI0 G2Ide 6060 @ ATAIR QAR 629 Aie TG G6& |

Qdis Z Q F1IR 6960 ?

l. Z6a e goe QYR @58 |

Il. 99 <z < 9¢, 9o Z @ 5q G626 YY IR 228 |
A) ¢

B) ?

c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following has the aim of dealing with theory of knowledge?

A) Theology

B) Metaphysics
C) Epistemology
D) Axiology

21) 39746 FIQ 6246 BIFa ANIS ATC AR FERIQ AR QS ?

A) ddi6ig

B) sAcIdEe
C) sieaiaral
D) Qmsaiaral

22) The process of a teacher examining their teaching methods and identifies areas for improvement.
What is this method of teaching called?

A) Cooperative teaching
B) Reflective teaching
C) Co teaching

D) Team teaching

22) 266 209 oIwa LR gOINR 988 6 0Iel FU8 K6 FALIRAIGS 612l §2¢ Fad | 8199 Y8 080 @8 QLIaN ?

A) 22sQien faIIQ
B) g6odie dalie
C) 22 Jaieie

D) 69191 SIQie

23) Which of the following options is an example of a commercial agency of education?

A) Club

B) Social welfare society
C) Newspaper
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D) Scouting

23) fgRge 99896 0uQ 6206 e dFe Crga 1@ aeleas 26T ?

A) 99
B) ANED SRS QAR
C) gleaelicls

D) qlieoer

24) Which of the following programmes set up Alternative Schools in places where there are no
formal schools?

A) The Education Guarantee Scheme
B) Midday Meal Scheme

C) Operation Blackboard

D) Shikshan Yojana

24) fgRge QIdigngle fug 6Rad 65163 2Igade dauea @l e 868 SIRA QIR QaaI ?

A) 381 gr4e 6IRRl
B) FRIg 69159 6QISRI
C) 2966Q¢ QIa6aIE

D) &94l sassl

25) We move from specific to general in

A) Deductive method

B) Teacher centered method
C) Inductive method

D) Curriculum centered method

25) 21661 ¥8ca §dag ARIRig Sl

A) G0 ARGER
B) dassaae aadea

C) 2190198 9866
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D) aioigreaae aec6@

26) Jigsaw reading, a peer teaching strategy involves which of the the following procedures?

A) Make small groups and ask students to read the text in groups and explain it to each other.
B) Each child reads the text, explains it to his neighbour and then pairs explain it to their group.

C) Make a plan of a complex seating arrangement for heterogenous groups. Give them a difficult
text to read.

D) Divide a text. Each group reads one section and discusses. Regroups and discusses with
other groups.

26) Fag QG°g|, e Qeneice dai0ie sFiIaR 26T, Y26Q fgage JEIRIgEe Mg 6adeq Bade qsa ?

A)
B)

6216 66T 62Q PRI 9 RIGAIRE 66IFIEQ TIOYR VLR N6 TaL0G QERRIQ QLI |

gecia dal aloye ARE, veig Tsela BIQT QLI 9e 0'U6a 6RIFNICH ¥2IQ A9 6oITIg QI |
C) <8qsa@ies AR 99 286 239 eYIR cARF JYE F03 | 6AFINE 9T AR IS FIFR AIOY FAUF |

D) aoig @80 FRICER IR FAUILI | gs61a 66181 6615 BaI8 008 1 2isAIen! 968 | 6019 JRHOR @ad e aRy

64191 42 CIOHY ZUEAISR @83 |

27) A learner feels isolated and has very few friends. The teacher should take care of which of the
following characters of the learner?

A) Demographic characters like age, gender

B) Physical systems like classrooms and furniture

C) Emotional characteristics like group dynamics, sociability, self image
D) Cognitive characterisitics like mental processes and cognition

27) @64 d81Eh G99 TNTI VRS P08 I FIFQ 926 77 AT URE | A9P FYAUS 0GgqEe NUQ JNIIR 6% ©REER G 694
ade?

A) 2qq, fa 08 FEALYY 05eR

B) 6GENgD 9e° 1AL AR FIED SRR

C) saia ada1asl, AIGe9!, 29 g6ed 08 f19ges 65934

D) ciede gaeal e &ie 08 BIeee 659Q
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28) SQ3R and PQ4R stand for :
A) Summarise, Quote, Read, Recite, Rote, Rewrite; Prepare, Question, Revise, Read, Recite,
Rewrite

B) Survey, Question Read, Recite, Review; Preview, Question, Read, Reflect, Recite, Review
C) Summarise, Quote, Recall, Recite, Rote, Revise; Preview, Quote, Revise, Recite, Reword,

Review

D) Support, Question, Rewrite, Revise, Relearn; Premise, Question, Rewrite, Recite, Reword,
Review

28) waginaie 99 dgirie R 4920 29 |

A) ANRR, 6919, AF, AARY, 6QIF, ARG ; JANK, CRIEER, ARG, AR, FARY, ARG

B) Q6w 6QI68Q, 0R, ARG, A0 ; J6e, 6RIcaR, AR, AT, ARG, dRR
C) QARIRR, 6915, AR, QARG 6919, ARG ; JER, 69, ANAR, ARG, AGE, AR
D)

Q64IQ, 6R16EQ, AAURR, AV, ARG ; JAIRY, 6RI6AR, AN, AARAY, ABEG, AR

29) Which of the following is a suitable way to know the reason for weaknesses of students in a
particular subject?

A) conducting remedial teaching

B) using feedback techniques

C) conducting diagnostic test

D) gathering information from parent

29) 661G FTACA F64 BIGA IRCIA FIQE FITQ! IR FYAYS FI6R 6896 6208 RAYS FIE ?

A) gERIFRe SRE 2R *QS
B) 969 69910 QQI% LR @A
C) 65QITe 9QINE 2ISAFE SAQ!

D) denigia Ol 9ol A°ge el

30) A learner likes to understand information through tactile information, for eg: hands on experience
and experiential learning. He is a

A) auditory learner
B) visual learner
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C) sensory learner
D) kinesthetic learner

30) wea dnigh gaegd 9o a@eadaqa: KYIE 2Q 2fgel 9& aABIgRs S8l AR KR, FIkIFa 4oRl 9Eelg ade Kad| 69
@66l

A) 69161 Simieh

B) qaa@ e aiei

C) Q6naqain daet

D) SIs18@ QidiaeIa Sl
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 6E2 QY6 21.,21,9,,9,8 2T 82T ¥TQ @ YA IQ YT QRIAN?

A) g& 99

B) a°ge 9o
C) 6ag1a 99
D) §-qa

32) ‘aeeqide’ 9968 69% addd Q4990 ?

A) 2l

B) &9

C) 296aI2e
D) @asie

33) IgEQ @'l Y2 AR FACQ F0R @QULAIRN ?

A) a1
B) geuar
C) aal
D) ad

34) ‘ues’sna Fudcldeg dR QI |

A) €18
B) @igie
C) 2e@
D) /22

35) eidelda '@ 980 6@lad AAIA FIR UL 696 AT ASHD?
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A) Qeida 9912

B) auagsaian @ge1@
C) Qa8 Qg91@

D) 68 @gq1@

36) QISR V@A BZ2 GR YFYFF 699 9R VIFER F0D FAUARE?

A) 26Q19-A6QIT
B) aiggig-agigié
C) aQR9-289Q
D) gg-aea4i

37) ‘@’ dIg NL2IR FAILIRIYL| AAAAYS INGG QUL |

A) 2eee
B) gleqe
C) f21
D) gaie

38) ‘Gelag 694el’ QF9 2 FQUs /a |

A) @26 g 624S!

B) sl @<

C) 98ge @aql

D) 299% 9g aiel 28l @8

39) ‘gasal aeisa ader ad ie @qeel Qecq o1 |

A) @2l 9IRS
B) @2l g8l
C) el Qg9
D) <l 24Ie!
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40) 699 99 QR JRIRQIER ALIDR 6LIRN2AN 7

A) alae

B) Qcaay a@
C) Q68196 aQ
D) Qo

41) ‘e’ I9a fadeIeRIR d8 QI |

A) @90
B) ereal

C) @eeia
D) e

42) G619 TRIQ 6RAT IR AYE T

A) 6dledy
B) sdledys!
C) gea

D) grae!

43) ‘a9’ zdsa ‘@’ geys calesa a06 dud QI8 |

A) 8aet
B) e
C) AIpet
D) 20181

44) 694 JOQ ANVER AN ALY A6L?

A) Q6884 AQ
B) Q6894 Q@
C) aqya 9@
D) @al 9@
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45) ‘QIe’ 98 AAIF6RINR 4 UL |

A) 669
B) Qe
C) @99

D) 24%
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 6x + 4 = 34?7

A) 5
B) 6
Gyl
D)8

46) X 0 699 FIRG 6xX + 4 = 34 acieaaq AOR @4 ?

A) 5
B) 6
67
D) 8

47) If the area of the square inscribed in a circle is 144 sg.cm, then what is the area of the circle?

A) 72 1 sq.cm

B) 708 1 sg.cm
C) 120 w sg.cm
D) 144 1 sg.cm

47) 96 98 QR UIRe F6s8ea 68eTR 144 94 6ad 24, 6669 AN EAGTR 6766 629 ?

A) 72 1 od sad

B) 708 1 o¢ 6af
C) 120 T od cad
D) 144  od sad

48) What is the capacity of the largest measuring container that can accurately fill 3 tanks each of
capacity 96 litres,180 litres and 264 litres ?

A) 24 litres

B) 18 litres

C) 12 litres
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D) 6 litres

48) 29926 q1a QM IR aige A6l 6966 629, A2l 96 Age, 180 fca wer 264 Acq aael §8a M cusq A0 I9eq gad
@GR ?

A) 24 Gea
B) 18 Gea

C) 12 Qea
D) 6 dea

49) A refrigerator with a marked price of ¥ 12,500 is on offer at a discount of 10%.The amount of
discount is

A) % 1,200
B) ¥ 1,250
C)¥ 1,300
D) ¥ 1,350

49) 99 cadesaca ade gai T 12,500 aiel acsa 10% Gelde 2aq a8 | cose Galda adalg cead

A) % 1,200
B) ¥ 1,250
C)¥ 1,300
D)% 1,350

50) If 7 is added to three-fourth of a number, the result is 3 more than the number itself. What is the
number?

A) 12

B) 14

C) 16

D) 18

50) 0@ 9@ e 67-02drdsa 7 6Id @AUAIN2N, 6969 TRITR THIOIQ 3 UTR 629 | 6969 TIMIT 6960 629 ?
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C) 16
D) 18

51) In a triangle AABC, AB =8 cm, BC = 15 cm and AC = 12 cm. If AD is the angular bisector of the
angle A, then what is the measure of DC?

A) 6 cm
B) 7 cm
C)7.5¢cm
D)9 cm

51) e 890 AABCca, AB = 8 sad, BC = 15 cad ver AC = 12 6ad1 9@ AD, A sqiga 6@1di@ AALSIEQ coimal,
606e DC a q1a 6966 629 ?

A) 6 &af
B) 7 sad
C)7.5 saf
D) 9 ead

52) The sum of two numbers is 546 and their HCF is 21. How many such pair of numbers are there?

A) 2
B) 3
C)6
D)8

52) gaf wsie a0d 2@ 546 e saniewe daig soad 21| 1@ad Q°%1LII6:]§‘G’Q 696015 691G 028 ?

A) 2
B) 3
C)6
D)8

53) An amount of ¥ 20,000 is invested under simple interest for 5 years at a rate of interest of 10%.
What is the simple interest earned after 5 years?

A) 10,000
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B) 20,000
C) % 30,000
D) % 40,000

53) 10% qu eiesa 5 od aiel aae guea ¥ 20,000 &§5saic caiaf | 5 ad asa YEQ sa6e Ao Qu e ?

A) % 10,000
B) g 20,000
C) 30,000
D) Z 40,000

54) In a zoo, there are rabbits, pigeons and monkeys. The respective ratio of their numbers is 2: 3:
5. If the total number altogether is 200, then the number of rabbits is

A) 40
B) 60
C) 80
D) 100

54) & g9 Qouesa 6092, ARl 9 Tiae 288 | 6A7IPwa Pella 29010 s2ad 2: 3: 51 1§ sanewa agels @y 200 g4,
6069 60Q2UT Ll 6298

A) 40
B) 60
C) 80
D) 100

55) Identify the singleton set from the following

A) Set of prime numbers less than 10
B) Set of even prime numbers

C) Set of odd prime numbers

D) Set of prime numbers less than 6

55) Gsqie Fllg 4R QAR FIR 6AQ H2% aag

A) 10 @ @7 sdiRe Tetiq 64T
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B) gq sdide caigiee 6Q%
C) agq s0de crengden 6QQ
D) 6 @ @9 sdi5e wreua 64F

56) What is the value of the following expression after simplification?

Expression : V(8 +V(36+(1961) x 100))

A) 24
B) 12
C)8
D) 4

56) 9@ aaniead a6a Y@ 2euda FlIR 666 629 ?

264@: V(8 +V(36+(V961) x 100))

A) 24
B) 12
C)8
D) 4

57) If the area of the circumcircle which circumscribes an equilateral triangle is 48 sq .cm, then
what is the area of the equilateral triangle?

A) 2443 sg.cm
B) 363 sq.cm
C) 48V3 sq.cm
D) 1443 sq.cm

57) 9% 9@ 9G89Ra 6AGUR U4 9@ AMQIg S9EG JGRNR @69, T 48 Q4 6QF 26e, 6069 AFRI GRS
6RGTR 6Q60 629 ?

A) 2473 od sad
B) 36V3 ad sad
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C) 483 adi saf
D) 14473 o4 6af

58) Veeresh is elder than Ram by 12 years and the ratio of their present ages is 7:6. What is the
present age of Veeresh?

A) 36 years
B) 48 years
C) 84 years
D) 96 years

58) dsad aiam 01g 12 94 9@ Y& caAIFEa QAR aaa agale 7: 61 fseas QRFINN 90Q 6760 629 ?

A) 36 ad
B) 48 o
C) 84 o
D) 96 o

59) If A= {4°n - 3n -1 | neN}} and B = {9n — 9 | n € N}} then

A) B is subset of a A

B) B and A are equal sets

C) Ais a subset of B

D) A and B are equivalent sets

59) 9@ A= {4"n - 3n -1 | nEN}} we B = {9n — 9 | n € N}} scse

A) B 5208 A @ 2969%

B) B e A aqie 64Q 2168
C) A s203 B a 1o QU69Q

D) A ver B aq1gmy 694 26E

60) Area of square 'A' is 100 sq,units. There is another square 'B' whose area is more than the area

of square 'A' by 189%. The side length of square 'B' is more than the side length of square 'A" by
(approximately)

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) 17%
B) 35%
C) 70%
D) 89%

60) odeag 'A'a sagas 100 odgfe | 2ey e edenga caeda 'B' od 'A' gesiea 189% 2ye o | @dese 'B'a aig an
odsag 'A'a il an 01 6a6e ade (2FlIRe QUG 2

A) 17%
B) 35%
C) 70%
D) 89%
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which instrument is used to measure precipitation in its liquid form in a specific area over a
predetermined period of time?

A) Udometer
B) Barometer
C) Anemometer
D) Hygrometer

61) e §3a 2ronea Qe FAIRS ARG FIER dig Y2IR FaRQUSA FITE! IR 694 QURRS YE 947

A) aseidea

B) qlequfigal
C) 2Ig61a9
D) QIR6gIFgR

62) An Ocean, will come under the category of which of the following spheres of the Earth?

A) Atmosphere
B) Hydrosphere
C) Geosphere
D) Biosphere

62) N9 FIRIAIGA, YIR1R YRS 69GGER FRIQ 674 644!1 2R 2UTF?

A) 6qIdae
B) eipeqidaa
C) G61aQ
D) qieaido

63) The Council of Ministers in the Union Government is collectively responsible to whom?

A) Prime Minister
B) Lok Sabha
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C) President
D) Parliament

63) 6a cerias AQ1 08EQ AIYER Q1SS A9l IS QI ?

A) Jalieeian
B) smuaaal

C) Qa9
D) ¢a@

64) The most important Pala Dynasty of East India was founded by

A) Dharmapala
B) Gopala

C) Devapala

D) Mahendrapala

64) J& QSR AG0IQ g AR AF°E I2IF° FIQl gOJG 621RM

A) agiaIR
B) sqlc@
C) saeal®
D) aeegaie

65) The Montreal Protocol signed in September 1987 aims at the control of the

A) use of Ozone depleting substances
B) use of both ODS and HFC
C) use of HFC only

D) use of pesticides substances

65) 626gna € ¢ 66 ABEE 62IRAS 67IFGUR 6PISTIRR Y2l FIREIF AW A6E

A) 66918 ORI AQIFa ULPIR
B) @ 3644 9e* IeTd Q 9T
C) 9@ IoNTd Q QYegIn
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D) FICRER VIR MLV

66) Read the following statements and choose the CORRECT option.
(i) Earth’s crust is divided into two types: oceanic crust and continental crust.

(i) Oceanic crust, extending 5-10 kilometres beneath the ocean floor, is mostly composed of different
types of basalts.

A) (i) is TRUE and (i) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ji) is TRUE
D) (i) is FALSE and (ji) is FALSE

66) G671 FRQEIGEQ U9g Y9 A0K G9F 0Ue *ag!
(i) SRI919 QR] R IRINER FOB RAUIYIRE : AAATAIA PR} Ie° AIRYII QAR |

(i) ARIAGA G6R 5-10 FERIFCR FIQ YRS ALIATNA AR, 62 R 62ARG 64R SI106 |

A) (i) 984 2165 9Q° (i) AeY 26T
B) (i) Qo4 2166 9&° (ii) 21AeY 26T
C) (i) aasy a6e 99° (i) A4 266
D) (i) 21a64 2166 9e° (i) 2By 26T

67) The main advantage of parliamentary form of government is that

A) The executive and legislature work independently

B) It provides continuity of policy and is more efficient

C) The executive remains responsible to the legislature

D) The head of the Government cannot be changed without election

67) cragia Ieq19R gy I 6208 92l 64

A) FDEF21 e QURAN NG AUV6R FIY 6Q
B) 2l 916Q Fa8asl gQI K6Q Ie° QX8 AT
C) AIdi@eIan SuIeAR! IRl Qa1 6283
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D) @elen A6l Q@Iasa Qo 98ede FaIIIRGS F@

68) From which Constitution was the concept of 'single citizenship' in India borrowed?

A) USA

B) England
C) Canada
D) France

68) auecse ‘9e fletaq’ AQUIAE saa AN LSRRI ?

A) 98918 2sAGAI
B) acqe

C) QIgIQl

D) &l

69) The imaginary lines of latitude that are used to locate a position on the surface of the Earth are
also known as

A) Grids

B) Parallels

C) Meridians

D) Perpendiculars

69) aeraa @8l 6a¢l A9l QUAIYIEA IR AIYIR CHIFA AR NILE 29

A) g1
B) deleqsl Qg

C) crISe 62899
D) [t

70) In which year did the Cabinet Mission arrive in India?

A) 1947
B) 1946
C) 1945
D) 1935
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70) 629 od6a QUIG6Re a9 QIReea aT°Gaal ?

A) eC¥9
B) €y
C) etxe
D) ecag

71) The advent of the Aryans in India marks the beginning of the Vedic Period. The Aryans first
settled in which region of India?

A) West Bengal

B) Maharashtra

C) Punjab

D) Andhra Pradesh

71) QUQG6Q ADIFILE 2GR 6@ ATAQ 2IA% 26T | 2GIENEH Y2I6E! NUQGR 67Q LERER FARIA FEM?

A) a8icieer
B) aeiqua
C) agie

D) aiggeas

72) The two supplementary agreements of Convention on Biological Diversity 1992 are

A) Barcelona and Madrid Protocol

B) Barcelona and Cartagena Protocol
C) Madrid and Nagoya Protocol

D) Cartagena and Nagoya Protocol

72) 637@ 90! afna1 R ¢ ¢ 9@ 9aG adigan QasIal 6208

A) QIdeqIal 9o AIGS 6gIELIRN
B) Qd6AIR IS QISIEAR €TI6SIRR
C) A1G@ e QI6eIal 6gI681aR

D) QIFIEER 9 RlEEIAI 6TIEIRR
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73) In which of the following ways does the Indian Federation resembles the Canadian Federation?

A) In the formation, ie. by way of agreement among the states

B) In the centralizing tendency (vesting more powers in the centre than in the states)
C) In providing absolute power to the local governments
D) Inits formation by way of fission

73) 9Rde AUQ 6R0d6a RIRGTR 6T6E6RAR ARIGA 6T6e6aaR Ad0 ade ECY ?

A) SI0961, 220 QIRIGPES F126Q cRIRdel @EIFl 2QAIsa

B) 69Q1ead 99o6a (QIRY 26ASI 6989 2R FAG! 218 AAAIR)
C) 91710 2eaiaqg Q4 88 6QAICINERRIER

D) 9¢ree qIal ¥2Ia 9096

74) The Tropic of Cancer passes through how many countries of the World?

A) 13
B) 15
C) 17
D) 19

74) 299 Q18 9720 6R60IT 69¢ 697 16 @5eIN ?

A) e
B) ¢#
C) ¢
D) e¢

75) What was the goal of the Lahore session of INC of 19297

A) Local Self Government of India
B) Complete independence for India
C) Self Government

D) Federal Government

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

75) e 9¢ 6Q AAIRTQ RUCLIQ FYEITFQ ARY @& 2R ?

A) PIRACR I AP AR

B) @iae A agd 190!
C) e’ AR
D) Tl 4RI
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Section 8 - Paperll-Science

No. of Questions: 15

76) Name the titrimetric reaction in which KMnO4 is used as a standard solution.

A) Dichromatometry
B) lodometry

C) Permanganometry
D) lodimetry

76) cingeada goaaia aia Gag sawdsa KMnO4 9q aiee Q8 96 24920 99

A) GegIclssiseIgt
B) 2616016618
C) ARG
D) asaidead

77) What will be the temperature at which the volume will become zero in V vs t ( at °C) keeping
pressure and mass constant?

77) QI 9Q° Q@gQa 2Q QY 662 QIAAIGIER V QRlfl t (°C 6Q) 6Q 2IASR G4 629 ?

A) 0 °C

B) (-273 °C)
C) (273 °C)
D) (-73 °C)

78) A car is moving with initial velocity of 10 m/sec with acceleration of 8 m/sec?. How much distance
it would cover in 40 seconds?

A) 3200 m
B) 6800 m
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C) 6400 m
D) 4000 m

78) 66lIGN QIR 8 m/sec? @ @Ql AFG 10 m/sec JI0de A6a6I6a 6T @QR | 40 6A6R46Q 121 6266 GaG!
2099 @9 ?

A) 3200 m

B) 6800 m

C) 6400 m

D) 4000 m

79) The is a membrane around the vacuole.

A) Elaioplast
B) Tonoplast
C) Amyloplast
D) Cytoplast

79) 6202 QAT 16as6 el 9 Eqi |

A) RIR6YE
B) sslsRigIe
C) udsnIge
D) Q@66ige

80) The simple dry achenial fruits in which pericarp and seed coats are commonly fused is

A) Achene
B) Cypsela
C) Caryopsis
D) Nut

80) aa@ 9unl 26TUR TR 6AVLYSR 6UGRT Ie° TP 6RIF ARIQE NINER TYR 2RI

A) 2i6ef
B) sfinare
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C) QlemIare
D) qiqin 94y ere

81) Which among the following product formation and kind of reaction will take place when HCHO is
treated with conc NaOH?

A) CHsOH and reduction reaction

B) CH30OH, HCOONa and Cannizaro reaction
C) CH30OH, CH3COOH and Schmidt reaction
D) CH3COOH and oxidation reaction

81) sasesase HCHO g eracsge NaOH ae qyeaia @aidsn S0R¢e F1uQ 66 U@ 98 689 N 606 gRiee gEa ade ?

A) CH3OH << gia g6aal

B) CH3OH, HCOONa «e* ai@wisan g9o@sl
C) CH30H, CH3COOH wer Géée goaa
D) CH3COOH e 2@sear géaa

82) Which crystal system does this solid belong having the given edge lengths and angles between
edges? Given, edge lengths are: a=b =cand angles are:a = =y # 90° and < 120°.

A) Hexagonal

B) Orthorhombic

C) Triclinic

D) Rhombohedral

82) sad IR 96@ dac 9F e 634y 9e° I FIER 6R1E QG R6Q ? JOR, ISR ARgE@ 6208 : @ = b = C 1 6R169F9 6208
ca=B=y#90° 9 <120° |

A) 62]60191R
B) zeciafia
C) FIegce

D) salerisegla

83) A cyclist with mass 40 kg exerts a force of 400 N to move his cycle. The acceleration is 6 ms™.
The force of friction between the road and tyres will be
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A) 240 N
B) 640 N
C) 320 N
D) 160 N

83) 40 A9/l 6ee S9] G64 AREAN CIAF FISA ANCAR FAIRG! AN 400 N 9F J62IT RRE | Q8 6228 6
ms2 | QIgl 8 SRR F12I6Q ATEQ IR 6RES 629 ?

A) 240 N
B) 640 N
C)320 N
D) 160 N

84) Cells that do NOT have a true nucleus or membrane-bound organelles are called

A) Prokaryotic Cell
B) Stem cells

C) Nerve Cell

D) Cartillage cells

84) a9 6219g9a6a gee R4R0a &l 676aR-6Q18 Adicnq RaIM, 6QAIRg qaIan |

A) 691R1Q05% 6
B) 6a¢ sam

C) @@ san

D) QFeas 6R18gE

85) According to which model the quasi-fluid nature of lipids enables lateral movement of proteins
within the bilayer of lipids?

A) Unit membrane theory
B) Fluid mosaic model
C) Micellar theory

D) Sandwich model
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85) sad ccon 2ga Adea QI3-gae gqs Adee SaLa frER 69159 TIcim 98q A8 K6Q ?

A) 976 6agaq dalg
B) I 6Cllwiata C16Qmn
C) aipeanq daie
D) A<Ge aeom

86) In Citrus plants, the stamens are arranged in

A) monoadelphous condition
B) diadelphous condition

C) polyadelphous condition
D) didynamous condition

86) aRga 28agleasa, |IsARgee Y9G ARIAIREN

A) 6016Q162RTY 21RDIER
B) ¢reenaq 29916Q
C) adaicenaa 29g6Q

D) Gemriaa zegiea

87) What is the ratio between the root mean square velocities (vims) between temperatures 207 °C
and -243 °C of a gas X?

A) 2

B) (1/2)

C)4

D) (1/4)

87) g% au 946 699 (Vims) aisa slaaigl 207 °C ver auia X @ -243 °C auea agaie @'4 7

A) 2
B) (1/2)
C)4
D) (1/4)
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88) In the equation F = ma, what does 'a' represent?

A) Torque

B) Acceleration
C) Velocity

D) Mass

88) ACRAEITER F = ma, 926Q 'a' 6296a Qe @98 ?

A) o& Q1 2Igd
B) @a¢

C) adeael

D) ega

89) Ricket in children is caused due to excessive deficiency of

A) Vitamin A
B) Vitamin B
C) Vitamin C
D) Vitamin D

89) QUSRS RIS FREQ TRAIRY° QARQ 241

A) @e18] A
B) @1t B
C) @e1iig C
D) @c1eiqg D

90) Which one of the following cell organelle functions like a cell circulatory system?

A) Cell membrane

B) Endoplasmic Reticulum
C) Mitochondria

D) Lysosomes
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